
•

•

•

𝑓: 𝑋 → 𝑌 𝑥 𝑦

𝑥1, … , 𝑥𝑇 ∈ 𝑋
𝑥𝑖

𝑓
𝑓 𝑥𝑖 𝑥𝑖

𝑋 → 𝑌
•

• 𝑆 𝒰
• 𝒰
• 𝑓𝑆: 𝑋 → 𝑌
• 𝑓𝒰 = 𝑓

𝒰
𝑆

𝑆∗(𝑥) ⊆ 𝒰 𝑓𝑆 𝑥 = 𝑓(𝑥) 𝑆∗(𝑥) ⊆ 𝑆
•

•

𝑖 𝑓𝑆𝑖 𝑥𝑖
𝑆𝑖 𝑥1:𝑖

𝑆𝑖
𝑓𝑆𝑖 𝑥𝑖 𝑆𝑖

𝔼
1

𝑇
σ𝑖=1
𝑇 𝑆𝑖 ≤ 𝑆∗ +

𝒰 − 𝑆∗

√𝑇
𝑆∗ = 𝑖=1ڂ

𝑇 𝑆∗ 𝑥𝑖

𝔼 𝑆𝑖 =
1

𝑖
𝒰 + 1 −

1

𝑖
𝔼 ҧ𝑆𝑖 ≤

1

𝑖
𝒰 + 1 −

1

𝑖
𝑆∗

𝑓𝑆𝑖 𝑥𝑖 ≠ 𝑓 𝑥𝑖

𝔼 ≤
𝑆∗

√𝑇
𝑆∗ = 𝑖=1ڂ

𝑇 𝑆∗ 𝑥𝑖
𝑆∗ 𝑆 𝑓𝑆 𝑥𝑖 = 𝑓 𝑥𝑖 𝑖

• 𝑒 ∈ 𝑆∗ 𝑁𝑇(𝑒) 𝑒 ∉ 𝑆𝑖 𝑒 ∈ 𝑆∗ 𝑥𝑖
• 𝑒 ∈ 𝑆∗ 𝑥𝑖 𝑒 ∉ 𝑆𝑖
• 𝑆𝑖 ⊇ 𝑆∗ 𝑥𝑖
• 𝑁𝑇 𝑒 += 1

• 𝔼 ≤ σ𝑒∈𝑆∗𝔼 𝑁𝑇 𝑒

• 𝔼 𝑁𝑇 𝑒 ≤ σ𝑟=1
𝑇 1 −

1

𝑇

𝑟
≤

1

𝑇

• 𝑒 ∉ ҧ𝑆𝑖 𝑒 ∉ ҧ𝑆𝑗 𝑗 ≤ 𝑖

• 𝔼 ≤
𝑆∗

𝑇

ҧ𝑆1 ← ∅
𝑖 ∈ {1,… , 𝑇}

𝑥𝑖
1/ 𝑖

𝑓 𝑥𝑖
𝑆∗ 𝑥𝑖

ҧ𝑆𝑖+1 ← ҧ𝑆𝑖 ∪ 𝑆∗ 𝑥𝑖
1 − 1/ 𝑖

𝑓 ҧ𝑆𝑖
𝑥𝑖

ҧ𝑆𝑖+1 ← ҧ𝑆𝑖

𝑇 = 30

𝑇 = 30


